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(3) 5Xx -6y +30 =0 ;5% + 4y - 20 =0
(4)3x -y -2=0;2x +y =38
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(4)3m*= 2m*-9 (5)p(3+6p)=-5 (6) x*-9=13
_EE G el uiselead SE I oS L UG 4
()X +4x-5=0,x=1, -1 (2)2m*-s5m =0, m=2, 3

_“ér)“”&gd/k?nx = 30008 kb 10x+3 = 0 eho@rSl 5
NS5l Lo Spbred S ke =L o6 s+ 2m+ k = 0 =@ S 6

-éd"(((b/
< e LIE S+ 2m + k=0 ebed,  f
L om = (4£/u:_~,w@n)
Csx [ Pwoex[ J+k =0
| J+[ J+k =0
[ ]+ k=0
e =]

%-u/ﬁw‘;f

Lugvf/jfdf/af’m X -y =5 2w - Sm d =25 AN AT A
SN E S S5t £ S ESL S S iz
E PNl G it 6

(1)x*-4x-5 (2) 2m*-5m (3) a*- 25

= x’-5x+1x-5 = ... ... =@ -5
=x(...)+1(....) =(...) (...
=G...) (...
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C(Solution of a quadratic equation by factorisation) l?/?)“"ﬁgc’_— & yos G Yoy 4 D
éJ—J‘—‘LL“mb/n-“«"’ﬁ&E’/uﬁi—/wdg%%/(’w@/l?J&’}V@//Lwcgﬁu(/?é—ﬂ
LIS L Sphre 3 AL e 210kl Bt U
Fodx—-5=(x-95 (x+1
Crut —dr =5 LUl @+ Dot (1= 5) A7 Enl ¥ —dx -5 & Uk
-ujimq:}flb‘égf“}@n/ XX —dx—5=0 é’}VJf/LDLnJibaﬁj}(
x—-5 (x+ 1) =0
-‘4t‘n/"’;ﬁ»..gﬁlf;_u.f)w'»uf?n/"..//"‘j'b()wl»ﬁ
T x—-5=0 L

x+1=20
L x =5 i x =-1
15 el bl Bl ne_sd
(ISl Gr 8 pu LSS Az Enl A G &L A S e
s pE e

0.0.80. Hen/f BBH

_“éfc._zi_/gi‘_}/uzn@,wdf/gﬁ/‘j;' :Je
(2)3x*-x-10=0
(4) x> =3 (5) 63X+ 7x =3
W m> - 14m + 13 = 0 S

(1)m*-14m+13=0

(3)3y*=15y
(2)3x*-x-10=0

3xP-6x +5x -10 =0

T3AxX(X-2)4+5(x-2)=0

3x+5)(x-2)=0
3x+5=0L x-2=0

- _2 _
X=-3 Lo x=2

-2 —% /lgé:«’}t/“ﬁ/&ﬂd}

m*-13m - 1m + 13

m (m-13) -1 (m - 13)
(m-13) (m - 1)
oom— 13 =0 |

I
0 © o o

m- 1=
~m =13 | m =1

S s 13l el -
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4 x'=3 (3) 3P=15y
xX*-3=0 . 3)'-15y=0
x'-(J3)2=0 3y (y-5)=0
LB (- 3) =0 Vo0 yes =0
SX+3=0 L x-43=0 y = L y =25
x=-B3 | x=B ~UE 5 0 kel rd
~Ut V3l -3 /,Zgi:,bl/df/énd;cj_u’l

(5) 63x*+7x=183

63x2+ 7x -+3=0

63X +9x-2x-3=0 |
3B x(2x + B3 -1 (2x+3)=0 |

(2x+V3)(3Bx-1)=0

L2+ 3=0 | 3V3x-1=0
2x=-B L 3Bx=1
NG 1

6~/3 x (-+/3)=-18

-18
9 -2
9=33x%x.3

1 N
-J T - < o
e N 5 /,«gi }L/dj/

2200

S S B ILS 2B S o

(1)Xx*-15x+54=0 (2)x*+ x-20=0

(4) Sm>=22m + 15 ;

(5)2x*-2x+ 5 =0

(3)2)"+27y+13=0

2 _
(6)6)&7—; =1

(1) V2X2+7Xx+5¢2 =0 _grwﬁmg_a./&,y@ e Ay IO

2x% + |

LX+Tx+50 =0 (S
| +542 =0

|+
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" I (x+2)=0
Lx=[_ ] L x=-\2

-t =2 Ll Lo e lsla$y

(813 - 2J6 x+2=0  (9)2m (m - 24) = 50

(10) 25m* =9 (11) 7Tm* =21m (12)m*-11=0

. _AAET
( uammayégﬁg@v{>

(Solution of a quadratic equation by completing the square)

el X+ 10X +2=0 @ 50
d/a/}'92V¢,}l*/.c;_‘/g/§:'xul¢_‘auﬁa/ﬂd/ ax*+ bx +c=0 fuz{/:/& SO
e g

(S S Tenl st
510 A PR E TS P2 L 2 5 Ul p U L
_éf/Jéq/o;-KnL'/JWl.@/t/»“iziL/U’/u)ﬁ»w;w ey

E TS IEGE S B S oo ts Bt X+ 10X

X+10x+k=(x+a)?

X+ 10x +k=x>+2ax + a* In

k=a*s10=2a i Joow6ur U

L a=5, o k=a*=(5)%=25

o, X’ +10X+2=(X+5)>-25+2 =(x+5)"-23

CESS T X+ 10X +2=0 by
LS fein L Je os S J e S 0P e S L mbla B e

—

-
(x+5)°-(J23)’=0
Sox+ES+ 23)x+5-23)=0
X+5+ 23=0 L x+5-J23=0
xX=-5-J23 | X=-5+23

=p3papappapapapapppaPaPpapa 37 AL EGEEEEEEEEEC



TSA e Pkl T fp oz
(x+5)7-(J23)'=0
(x +5)* = (23)
X+5=/23 L x+5=-/3
X=-5+23 | xX=-5-23
0.0, At/ f BSBS
X-4x-3=0 &S O)J&
Fadrt) 1o XL Lo VeSSl Ut pnd #eisGrl ens 1 f
L S s fenla (ol 1k
4 3

X*-=-x-==0
5 5

4 4 f{
X-SX+k=X-2a0+a juX-cx+tk=0-a” fig

) 4
sl Se X -2ax il X - - X

5
__4 _ 1 4_2
-2ax = 52x, a=5xz =3
kzazz(Z) _ 4 ?ﬁc«/ﬂu(x2+bx +C=0chls
5 25 N (bY
2 = - - —_
_ xz—%x—%:o x+bx+(2j (2j+c—0
4 4 4 3
. 2 _ e b f
. X 5x+25 5 3 0 Lj’“ I
2
2V 4 3 b (bj
= - (— Z) = +=| = - | - ot
(x sj (5 +35)=0 (X 2) 2) - oG
( _2]2_(2)_0 -széu“uj}'éd/
5 25
2\’ 19
3= ()
575 b 5 5
N RNT) NERERNIT)
-5 T s L =357 s
_2+\/E _2—\/5
X=— \ X = ;
2-J19 2+
- ;/71’ \/_J/WLV’JL‘”JJ/
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YA IR () 3
X*+8x-48=0

X+ 12x-4x-48=0
X (x+12)-4(x+12)=0

T (x+12)(x-4)=0
SoXx+12=0 L

Xx= =12 .[., X

X +8x-48=0 & F 2)J&
YA (S

X+ 8x -48=0

TX+8x+16-16-48=0

(X +4)-64=0

(X +4)" =64
. X+4=8 | x+4=-8
x=4 | x =-12

ce 12 L4 el e U

23 o

(HDX*+x-20=0
(4)9°-12y+2=0

(2)x*+2x-5=0
(5)2)°+9y+10=0

_“éfc%/d: &/Jga';w(ff/d:'g/ﬂ
3)m*-5m=-3

(6) 5x* = 4x +7

LT

((Formula for solving a quadratic equation) &> K. Sl /)

e a#0 utﬂta[ﬁnwla X2+ gx + % :«/V{L/ﬁfmca/ ax’ + bx +c =¥

b - b
X+ JX+ %= 0 &’}V/mgut&/ﬂd/dféu}’f/}) X*+ ZXt % Ve
_ugéfJ”lijgLJ’(lpé ax’ + bx +¢c =0 = /hl~ ﬁ

at+bx +c =0

NN oY

Q|0

ISR o

(D)
(S adAP)

.....
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N b b* —4ac ] N b b* —4ac
' 2a 4a’ - g 2a = 4a’
i b* —4dac i b* —4ac
X 2a 44* - X == 2a 44*
—b+~b* —4dac —b—~b*—4ac
X = [ X =
2a - 2a
—b+b* —4dac o
w2l s = T A
_u*L/'/ b D307 (0 B sl (WD) o o
—b++b* —4dac —b—+Ib*—4dac
o = , = . (1)
2a 2a
. —b+~b* —4dac .
e TS 2a c«/l/u.*‘fd/c‘b:aui‘ax2+bx +c=0 bl

—e b S ST Ut
S KL S e x = 22 “b —dac J o

-u‘é/}lb:;w&uiufyujd/r_J“J’Md:ubl/dj/
g ES s b Loy

—b++b* —4dac —b—~b*—4dac
B - 2a s Q= 2a
- —b—~b*—4dac - —b+~b* —4dac
a<Bix o = » so>P s o= > fu’éga«g,
000, St/ BABS
1y = bV —dac | S S S 5ol S8 L
2a : .
—(-14)+144 : m-14m+13=0 1HJe
= 2x1 | m-14m+13=0=br
1412 .
= — | c,ax2+bx+c=0al:L»(W
| .
me 4E12 141 a=1,b=-14, c=13 4L L
e , 7 b -dac=(-14) - 4x 1% 13
ms=-— L m=3 ! = 196 -52
m=13 | m=1 | = 144
|

<1} ;3 Lol alla,
e e T e e e S O S S O DT



a=1, b=10, c=2,

o b*-4ac = (10)>-4x 1x2

=100 -8
=92

—b+b* —4ac
X =
2a
~10++/92

2x1

—10++/4x23

2

~10+223

2
_2(=5+423)
- 2

x=-5+23

x=-5+23 L x=-5-23

X+10x+2=0 2)Je
EXP+10x+2=0=bl :f

e a* +bx +¢c=0

- 5323 | -5+23 Lol =lolr( .

X-2x-3=0 (3)J&

4L/2)lr:, ax’+bx +c=0 abtx(%&;kxéﬁd) S
a=1,b=-2, c=-3

b -4ac=(-2)"-4x 1x(-3)=4+12=16

o ZE2)16
2
_2+4
)
=3

3

b

¢

X =

~(-2)-V16
2
2—

2-4
2
-1

ce 13 ke hlaBrd U
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A e JES L L S e G X - 2X =320
X=X +3 @ x-2x-3=0

‘ZWJZ&,,VJM&E@,‘LQMW X = 2% + 3 whlee Uit x
_Zuj’u()&,wuu y=2x+3uy=x', y=x'=2x +3 3

2

y=Xx
X 3 2 1 0 -1 -2 -3
v 9 4 1 0 1 4 9
y =2x+3
X -1 0 1 -2
y 1 3 5 -1

(-1, 1) S Ll s,
OIS (3,9)
XP=2x + 3 bl
x =1 f¥x’-2x-3=0
~ex=3

y = x =l UL
T8l y=2c+3
ehle e Z6 5L Yo
(5 X' =2x + 3
LA FL X -2 -3 =0
JIFISE LS

v

A

\ 4
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X+x+5=0
X2 +Xx+5=0ll

(5)Je
S

gl Jiilve ad® +bx +¢=0
a=1,b=1,¢c=5
o bP-4ac = (1)?-4%x1x%x5
=1-20
-19

bt Jb* —4ac

2a

_ -1E-19

2x1

-1£v-19

2
Lj}’fd)é{_ J’é— Uﬁ;ﬂ‘ (3:?}:/ V=19 Ug
-Ufﬂﬁ&%kéobwdy

X

25x2+30x+9=0
25x2+30x + 9 =0 = /sls
e a’+bx+c=0¢

@) Je
S

:4L 2l
a=25 b=30,c=9
 b*-4ac = (30)>-4x25x9

=900-900 =0
—b++b* —4ac
X =
2a
_ -30+40
2x25
-30+0 -30-0
X="%5 t X=T5
30 30
Y="5% o X=7%
3 3 3 3
X=-3 Lox -3
:a')l/‘f&{uﬁuy:

S Ul 25x2 4+ 30X + 9 = 0
25x7+ 30x + 9= 0 LAY

-u{'{uﬁu&%al (Sx + 3)2 =0 ‘3’,{

. B\
MESLEp S &P P02 20 + 13x + 152 0 e hley :rKJf
L ~E el L ot Lz e &L, )

24e0F

_ﬁgﬁgf ccbea L/:&J'}”c;&/!“’d/.lfvKu;'ﬁbfdf/gf“)'g/ﬂ N |

(HX*-7x+5=0 (2) 2m* =5

(H)Xx*+6x+5=0
(4)5sm*-4m-2=0

(2) x*-3x -

1
(5)y'+3y=

m->5 (3)y* =7y
_édpé/vl.’pig&b/u;’ﬁb‘tﬁ/djgjﬂ 2
2=0 3)3m*+2m-7=0

2 (6) Sx*+ 13x+8=0
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I (St e $n s LSS X 4 2 Fx + 320 ebels 3
ESoL

- &'L} gbl/df/ Jb2_4ac x2+2\/§x+3:0¢,;,ubﬁ/ :Jp

SIld ¢ S F| | ppred | — a’ +bx +c=0 =hlerbf

)J‘“‘uf'”jd/ a, b, c L v
A -g%u [ e

_AEET

((Nature of roots of quadratic equation) :«:‘]d/ u»lgé ST - /)

. ~b+\b* —4ac
-%%&WﬂgJ"uzé—% X = 2 « /M:C ax*+bx +c=0 &’}V(ﬁ/
—b+f
c X = Jw b - 4ac =0 S (1)
-b -b —b 0 -b+0
= — = — Y = = ’
g 2a £ ox 2a ‘f X 2a Lx 2a “AJ
-wind)V/ﬁ'&%bia'5VLﬁ/
X = ‘b”;’ ~HC S b - 4ac >0 ) (2)
~b—b* —4ac L ~b++b* —4ac ﬁ
= y X =
2a 2a
-@Lnd;bﬁ/)'&%kiabwdf/
s . . e —b+b* —4ac . z
G ie L el Gl Ul (- DL 3 X = > Yy b*-4ac <0 1 (3)

-ujiyzuj
b* - 4ac cj.u’l%&n/;tﬁa;agd/bz— 4ac:«.’id/uujg£ax2 + bx + ¢ = 0l ,
(cam SAEIA) -t &b e (h3) A 1 L (discrimant) Z6tsla 2o

_ég){;dlé/lz u(obyb”&nd;u:d:} :(K‘,V

E> oD
[0 ] —
@[30 | —
Lo ] — |

-»»»»»»»»»»»»»»4«««««««««««««-




0K, Henlf BABS
_E I X+ 10x - T = 0 ehlegy (1)U
(LS ad + bx 4 e = 02K X+ 10X - T = 0 bl S

a=1,b=10, c=-7
~bP-4ac=10"-4x%x1x(-7)

= 100 +
= 128

28

_“édfma{,;jd/u;/kcﬁéu;’)VJ“L?/ﬂ (Z)Jﬁ"‘

() x*+2x-9=0
I E X+ 2X -9 =0 sl

c4z°./4~_ax2+bx +c=0

a=[_1|,b=2¢=[_]

S

o bi-dac= 2 -4x| x|

A=a+ [
= 40
~b*-4ac>0

_uzd}l//:;/}’(}f??/lgi c«’)\/(ﬁ/éu/'

(i) V3X2+2HBx+ 3 =0

1) 2x*-5x+7=0
P 2XE - 5x + 7 =0l 104

i Se a+bx+c=0
a=2,b=-5,c=1

“bP-4ac= (-5)*-4%x2x%x 7

A =25 - 56
= -31
~b'-4ac<0
s E el el

gl al +bx +0=0 KB H2BX+ B =0en o f
az\/§7b=2\/§76=\/§‘u‘{{,
b -4ac= 23)-4x 3X 3

12 - 12
0

4xX3-4%X3

wg@wnﬁigiuwd&éd’

=p3papapapaPpapapapapapapapaps L CECEEEC



AT

( yuyj)£u$/1;1U5JJg£c,l;Vdf/>

(Relation between the roots and coefficients of a quadratic equation)

e U P ol o el OXT + bx +c=0 :«M/d{//ﬁ

LA
W B = —b+b—dac b=V -dac _ —b\b’ —dac , ZboNb—dac
axXfp= - P o+ = > + -
(—b+\/b2—4ac)><(—b—\/b2—4ac) _ ~b+~/b* —4ac —b—~b* —4ac
= 44> 2a
b* —(b% ~4)ac __ 2
— — 2a
4a
dac Soa+P = _é
<
= a
C
af =7
_gqﬁql:»u:u]ﬁgz_ne;ui‘d} :(KJ‘;
sl OL +B: 4‘-.J_£10x2+10x+1:0_..,1,vdf/

O(’XB =

0.0, A/ f BAS

e 0 X By +B Ul 26+ 6 -5 =0 eblo@apalia (1)JE

i @l +bx + =028 2+ 6x - 5= 0 hle@y 4
a=2,b=6, c=-5
b 6

(X+B:—E:—j:—3

/}’,aXB = %:__5

e e g e S S e S DT



_E e d S kI 710/l X - 13x + k=0 2hle@, ()
yi e al +bx +c=0 208 X - B3x+ k=0 enleg,
a=1,b=-13, c=k

a > B /)iuZ/,ZgLaUVdf/Jﬂdﬁ B sl a ‘S{tf/
b _ (13 (D)

a+Pf=-,=-—7 =13
Sa-B=T L (enl) . (D)
20 =20 L GESES s (Debl)
o =10
L 10 +B = 13 o Igd (D]
B = 13- 10
o, B =3
o X3 =§
10 x 3=£
T
k =30

Iusiiel X* 4+ 5x -1=0abl @ rBua @)Je
_Eeedd at B ol + B ()

:42_/c;ax2+bx +c=0 KX +5x-1=0xllr - SF
a=1,b=5, c=-1 Ul
b -5
a+B: —;:T:—S
c -1
(XXB: Z:T:—l

(i) o> +PB°=(a+P)-30P (a0 +P) (i) a* + B* = (a+ B)*- 20
=(-5)° - 3% (-1)x (-5) =(-5)*-2x% (-1)
=-125-15 = 25+2

o’ +B*=-140 o’ +[3*=27
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WETE;
( L’/'U‘Ila:«bl/df/'—f“uﬁ Lﬁ%’”@’)
(

To obtain a quadratic equation having given roots)

— Bl a /lgé:,l;{,»df/d!,/é:‘ X ‘“éu.‘/'

Lx=a b x=PB

Tx-a=0 L x-B=0

L xX-ox-PBx+af=0

X -(a+Blx +af =0

B ES e E LSSl E L e B s o (5
X = (AU x + PN busie = 0

-ﬁu,udf/duuww 9 PN 6Ussie st 10 o4 €Uside < (1) ,»K&’

- x4 =[] ... (= lslap, )
S S bl@ dii B = Ssla = 2: (1) 6S
Ao (] H D+ x [ =0 enedy

G, e+ Jx+[ =0
008, A/ f BB
-é“_l'/.abl/df/(f.'JUn —7 2513 /,Zgéabl/df/g/% idlf"

B = Tua=3EH S
Ta+B=(-3)+(-7)=-10, axP =(-3)x(-7)=21

X - (o +B)x+af =0 (Kbl
X2 -(-10)x +21=0

x> +10x +21=0
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F s Bl o el ax*+bx +c=0 c«UL/df/ (D)

) ~b++/b* —4ac , ~b—~Ib* —4ac
(1) o = 2 42 > B =
a 2a
3 b
(11)0L+B=—; s, OLXB =§

Jn/fQufJ b? - 4ac = QeI Susiel ax + bx +c=0 =bl-Gr (2)
_uj‘Z_//;Ua'c, JJO‘.%U A %!‘u,? ':J(discriminant)}?'/ajlfmé V-

R Ll FEslsie Ul e B A = 01 (3)
Rl s F il e B I A > 01
-%Ln;ﬁ&bj/jgia!;wdf/:?n A <0/

b X2 = (0 +B) X + o = 0 Sabba Gt Ls sl o sie L lslr G pf (4)
g/

2500

‘éd’@’%dﬁd}'ﬂyﬁ 1

. - _ |
(1) 2u'}L/‘U’f/ > b*-4ac=5
ax’+bx +c=0 b -4 ac= -5 "~

(2) | +Z 6 =7 é o }w&*mw =5
:b.}'uyz/,igﬁabbfu’f/éd;’ Bl a y 3)

)
e SUse
i

Ja+B=.....
2xX*-4x-3=0 g
laoxpB=... ..
_é’:pl’”gg(;’/f.”é:c«’}b*&/d5gﬂ 2
(DX*+7x-1=0 (2) 2P -5y +10=0 (3)2x*+4x+2J2 =0
_“éigfjd/u’/jgiabv&/ﬁ‘l%mfog U(/?’ 3
(1)X*-4x+4=0 (2)2*-Ty+2=0 BYym*+2m+9=0
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b bloBrSlun Il Siie el 4

(1)0 I 4 2) 3. -10 3) =, = (4) 2-+5, 245

27 2
-“épl’”.wfd/ kbl PSC L Jeor KUsiiel xP - dkx+ k+3 =0 by *5
E e d iUl Y -2y - T=0 2hle@ Bata %6
() az+B>  a+p
_Eeped§ kounGln Fl e G lds
(1)3y*+ky+12=0 (D hkx (x-2)+6=0

. _SAET

((Application of quadratic Equation) J&’Kc«bt/df/)
_ZQ/';JWUQ{,(’fuﬁé_/géu’i-‘aJncab‘,cfzgal;v&/ééé_/?}”fﬁfbﬁw Sisopins
SUEUT e b2 7 e g e w6 Z Jo ok e L L3 () Je

-é"}l”‘g’j)?:/)’(jl/d/é_ﬁﬁ'édkJJ%J’;‘LMLJ/L‘-{ =
e A x Ju,ngwéthu‘fVJjg:;éJ/ :f
AU =+, = x Tl =(x+8) K
:‘;yd/gﬁé«/!;@

X2+ (x+7)=(x+ 8)?

X'+ X*+ 14x+49= X"+ 16x + 64
X+ 14x-16x+49-64=0
X' -2x-15=0
X -5x+3x-15=0
xX(x-5)43(x-5)=0
(x-35)(x+3)=0

X-5=0 L x+3=0
xX=35 L x=-3 J?JJE‘J‘
(ce e an§UD G0 oF
LX#E-3

XxX=5 nl x+7=54+7=12

e #5872 12 QS w6 L Jp it
=p3papapapaPpapapapapapapapaps L CECEEEC



Sty o bid (228 5 T Unfe A2 Aotk 360 i GHLLT (2)JE
Z eSS g ke as L LS S Lot
-‘al’;‘f&}:‘%m@@m@d%@ﬂéd} ZJ’
S mbE 3 (x + 5) LSS 3 s gl
Sl L3 SE Lok 360 = 'Lis = @ ry

-3
360

i L& SE MobiG gl S = =

R IDAPARRS

360 _ 360 48 48 .7
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(A)3-3=X B)xE+5=2 (On-1=2n (D)= (x+2)=x
S e bl A SIS (2)
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(A) -2 B -3 ©) (D) 2

=p3papapapapapapapppaPaPpapa 53 GG EEEEEEEEEEC



Ut c«l:bﬁ(ﬁ/:«bbﬂd@jfdﬁdji@ﬂ 2

(1) m*+2m+11=0 (2)x*-2x +5=x" (3) (x +2)?=2x?
-éfk’d&%éiablxg;dﬁd}gﬂ 3
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W32, =2, =6, =10, ... (2)
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t-t=-6-(-2)=-6+2=-4
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J p=rd=-3rcho i
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AT
((Sum of first n terms of an A.P.) (‘fd/u%lnéf_;éﬁu@p)

a, atd,a+2d,a+3d,...at+t(n- l)d,wl.ﬁ(}l,?
Ly e 8, Bk n& Sl e d PSP e a fotky Sl

S = [a] + [a+d] + ...+ [a+(n-2)d] + [a+(n-1)d]
:4&;4;&7,@%;
S = [a+(n-1)d] + [a+(n-2)d] + ..+ [a+d] + [a]
ST

28 = [a+a+(n-1)d] + [a+d+a+(n-2)d]+ ...+ [a+(n-2)d+ a+ d]+ [a+(n-1)d+a]
28 = [2a+(n-1)d] +[2a+(n-1)d] +...+[2a+(n-1)d] ... =/ n
2S =n [2a+(n-1)d]

L S = na+@d

~E R TSUE100&£ L 14, 16, 18, L. QL U
n=100<d=2ca= 14Ul

S = 5 [2a+(n-1)d]

S = 5 [2a+(n-1)d]

100
S — [2 X% 14+(100-1) x 2]

100

2
50 [28 + 198]

= 50 % 226 = 11300
e 11,300 G100 & Lualddlozse s

Ity
il

—xd J/'J}i'/ﬂ a UCM Kﬁl.ﬁdbé.ﬂ%)
t = a+(n-1)d

_ut’fu:wsc-,t

n(n—1)
2

S, = 5 [2a+(n-1)d] = na+="—2d
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[a+(n - 1)d]
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n S, =75 [2a+(n-1)d]
n=§[t1+tn] S=2+4+6... +2n .
n =3 [2X 24+(n-1)2]
:5[2+2n] =2(1+2+3+....+n) .
n ) 1 :_[4+2n—2]
=S x2(1+n) - Anze D] 2
2 n
=§[2+2n]
=n(1+n) =n(1+n) .
:5x2(1+n)
=n (n+1) =n(n+l)
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:(1+2+3+000+2n) :§[2X1+(I’l—1)><2] =5[1+(2n—1)]
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= (2n*+ n) - (n*+ n) =5 = n’
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t.=a +n-1)d
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LU TS+ 3+ 5T+ 149
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n
S, =73 [O+ (n-1) d]
27
S, =5 [12+(27-1)00]
T n
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a=L_1|,d=L_Lt=[_|

t = a+(n-1)d

n

136 =L _l+mn-1)x[_]
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\/ (Application of A.P.) JUHK,@LJQV \\\

st £ 700Uy sz & 600 e A Gl it £ (1)Je
_“é(}’”x‘f&)jsinjuuf/@tnﬁd//
oy U L (i) g S 10 (i) g UL (i)
e B3t S SO a SN
S Qo S s S Lt e e
(=600, ;=700 stfelbdn e Sl E 5 egnl FE P ()
t = a+(n-1)d SJUrZ s

t,= a+(3-1)d
= 600 = a+2d (D)
t= a+(7-1)d
= a+6d = 700 .. (1)
a+2d =600 , . a=600-2d (&) =blogti(l)=hls)
600 - 2d + 6d = 700
4d =100 , .. d=25
a+2d =600 , .. a+2x25=600
a+50=600, .. a=550
w550 i SLde L
t = a+(n-1)d (i1)

550+(10-1) X 25
= 550+ 225 = 775
_$n 775 g s 10
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S = [2a+(n-1)d]

O NS
RN

S = 5 [1100 + 150] = 5 [1250] = 7% 625 = 4375
L A 4375080 b L
DL e 3e 30,5008 20 e L2 1D L5 Sin g 1325000 FFSSF @)Je
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30500, 30500 — 1500, 30500— 2 x 1500 . .. (funu:mﬁ@uu:"jdué_wm)

Sy = a = 30500, d = -1500, AFSFF = S, = 3.25,000

S, = 5 [2a+(n-1)d]

n
325000 = 5 [2 x 30500+ (n-1) x(-1500)]

> [2% 30500 - 15007 + 1500]
325000 = 305007 - 7501° +750
750> -312507 + 325000 = 0
3n*-125n + 1300 =0 (42_/??;;250/@:;})
3% -601 - 651 + 1300 = 0
3n(n-20) -65 (1-20) =0
(n-20) (31 - 65) =0
n-20=0 | 31-65=0

_ _ 65 _ 52
n=20 | n=-= =213
_‘L;ﬁu’i&néJi‘L/?/:‘;Kugﬂéﬁ@‘dl?n
n+ % ’ S.oon=20
S P LS e S f et FS P A il U1 S, = 325,000 o1é 20.1)
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1000 =150 + 507
150 + 507 = 1000
50n = 1000 - 150
50n =850
n =17
St 17 2580 1000 U
gL S FS AU 17

g [2a+(n-1)d]

op]
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) [400 + 800]
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JuFe by 316 400 b U2 U1 -E o£15 ) 4000 U2 -2010J0 U2 i TS UsEl (5)JE
L Losasth I 42020
S

Ju #2010 #2011 ¢2012 C. #2020

Shitd | 4000 | 4400 | 4800
a=4000, d=400, n=11
t= a+(n-1)d

= 4000 + (11-1)400
= 4000 + 4000

= 8000
& JenShi1# 8000045202001

110,000 20Ul b U T-d SIS L1 1,80,000 07200520155 Eas7 (6)Je
S22 2,50,000 o F2 UL St U 2 I LE s 3 Lo
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a = 1,80,000, d = 10,000, n=? t =2,50,000 &

t, =atm-1)d
250000 = 180000 + (n+ 1) x 10000
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e N PP
ujf“ ' (Tax Invoice u’f’j!Jg)

AP A e
SUPPLIER : A to Z SWEET MART GSTIN :27ABCDE1234H1Z5
143, Shivaji Rasta, Mumbai : 400001 Maharashtra
Mob. No. 92636 92111 email : atoz@gmail.com

Invoice No. GST/110 Invoice Date: 31-Jul-2017
S. HSN Name | Rate | Quantity | Taxable CGST SGST Total
No. code of Amount

Product Rate Tax Rate Tax Rs.
1 | 210690 Py ?};130 500',,/ 200.00 | 2.5% | 5.00 [ 2.5% | 5.00 | 210.00

2 | 210601 | 2Fl|z80| 16U | s0.00 | 14% [11.20] 14% | 11.20 | 102.40
3 | 2105 K/ujf 2200| 1<k | 20000 | 9% |[18.00| 9% |18.00 |236.00

(500 1)

4 | 1905 Az %35 1L 35.00 | 0% | 0.00 | 0% | 0.00 | 35.00
/% 500 z

5 | 210690 ke 3 250 11 125.00 | 6% | 7.50 | 6% | 7.50 | 140.00

2y I [41.70 41.70 | 723.40

bkl e e s QU BWIZ AT ¢ s

U’JCentral Goods and Services Taxu’) CGST.u*&»L GST.SGST. CGST : J’”
State Goods & u)) SGST -« (¥ 07u’t Z J:Gd/} Jp, - u’cul.»ul l/l d/
..gL/C?u’LLJ;GU’L/,_J‘:VL»J)’V’U’LJU’J Services Tax

S fos- LU’)G(A/ SIS% L J.J}]A'LMJL/JD/;'LJMJC 2

:/“f 7z l:‘u%. (GSTIN - GST Identification Number) / (f L6 Us7 t‘ﬁ‘a GSTIN » b
100 AP PAN —ae G Ay e tee S0 DK 6a1e & 00d 1 20 Ut LB
3o (S5t 370k U e brtsie (e 37 15 U GSTIN st s 2 S sea bran5in 37
e b e 37 106 PAN £ 261U

> 27TABCDET1234H1 Z 5 e LIkt JiFT)

APANESF, Usirs i 10 (et IS
it 1 L Lkt L] A et Fuly 277
ulf{“ici._/ &UUHL 27 -« (State Code)
Ferls (L6321 Cat S b A e A
2158 w25 G —e U P B

(e A e b Tuts 52 GSTIN jer oo GST Fr i)
e e e Y O O e e e S e e DT



e LI HSNUE U
FHSN-c b S 23 e b AT i erla § 2103 HSN:
Harmonized System of Nomenclature
ST A S AT B bbbt InE -
Lnesl Sl L Lo et db S A F et S b
Lo sie faplFTc 1H o0 40006t i Lo dbutut
ce 2200 SUtoug
FFuLts R =LA 2.5%&“’?&}%;}3 +
Yy 10U 2.5% + 2.5% = 5% c}u’a@wﬂngﬁg;z;u&w +
u@%wuy-c‘- zc/“Ju@w?z RSN
Wy =ISESS Luie 7 C/&d/ugatﬁ/;l“bﬁi/?(:/uj T4
NSV A R ISV R AT IFNR
e S LIESL e TS e 0% A ke Uil
28% 51 18%¢ 12%: 5%« 0% 4@%&}«!%&&»&?1 :
-Zuﬁ.“‘g;fugwjiilJghﬁv!-‘aéfiyﬁz,}&féiﬁ: e
=y H u//’ilﬁawﬁf/zf%c’—u et b
A S
Aahar Soneri, Khed Shivapur, Pune Invoice No. 58

Mob. No. 7588580000 email - ahar.khed(@yahoo.com
GSTIN : 27 AAAAAS5555B1ZA Invoice Date : 25-Dec-2017

r2ed

-Z“_}JSLZ/;'

_9)/

-

el

SACode| Fooditems | Qty | Rate |Taxable CGST SGST
(SAC) (inRs.) | *U
9963 Coffee 1 20 20.00 [2.5%(%0.50(2.5%
9963 Masala Tea 10 10.00 |.... ... 2.5%
9963 Masala Dosa | 2 60 2.5% (...
Total

Grand Total =Rs. ________

-é(#f&/’uﬁﬁfiu,%uh;ébuﬁKu,&,ui»uy:,w/,tgﬁ! L

w
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e o3 SAC A e mbot HSN B ey
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